CY/I\ON
Fre uentl Asked Question

@ PLC QIXZY S5F 9I%, 45 HZFS ok2D st YAl oL

u POSCTRL HHO|E AI310] 7HsBLICt

YH2 ofefet #ELch

(Mg
(nz) =2 [ = A2
{nZ + 1) AN ZE
{n2 + 2 A CIOIE (319
{nz + 3 T GO =D
n2 RSN H2 MFBLICH

n2+1: HOo ZEE
n2+3: HO{of| st HolHE AEg LT

225 HY
CEERX HE

AXZE 7tE7H 0 &R O 2 YL[Ch

1=0| 27 £2 2 1000 o2 HASHL|CL

MS00

Tl Lrov
[row
[oroy

[ PoSCTRL Hoooo

1Z0| @™ XEE 1000 o2 HZASTIL|CE

K500

A7} oy

[rov

[omoy

[ PosCTRL Hoooo

1000

1000

D1000
HEE =
HH=

D105

Z 1t Flag

1000
LEEE

HHZ

)|
2HET
HHZEE

D002
TR

D105
22} Flag

H

H

www.cimon.com




